
GCSE Spanish: Relationships and marriage
(Higher and Overlap)

MARK SCHEME

Q1. Accept Mark
1 Important B 1

Not so important C 1
2 Important E 1

Not so important D 1
[4]

Q2. Accept Mark
1 B 1
2 B 1
3 A 1
4 C 1

[4]

Q3. Accept Mark
1 A 1
2 A 1
3 B 1
4 A + B 1

[4]
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Q4. Accept (in any order) Mark
1 B, C, E (in any order) 3
2 B 1

[4]

Q5. Accept (in any order) Mark
1 A 1
2 B 1
3 C 1
4 B 1

[4]

Q6. Key ideas Reject Mark

1
It’s where her parents got
married / It’s in the same church
as where her parents got married

Where Ana’s parents got
married 1

2 A 1
3 C 1

4 Read (something) Make a speech
Read a speech 1

[4]

Q7. Accept Mark
1 Alba 1
2 Julia 1
3 Iván 1
4 Iván 1

[4]

Q8. Accept (in any order) Mark
1 F 1
2 A 1
3 A + F 1
4 A 1

[4]

Q9. Accept (in any order) Mark
1 C 1
2 E 1
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3 D 1
[3]

Q10. Key ideas Accept Reject Mark
1 (se) quedaban en

casa
(se) casaban y (se)
quedaban en casa

‘(se) quedaban’ on
its own

1

2 Any one of:
Viven más
Duermen mejor
(Están) menos
estresadas

(Tienen) menos estrés

Answers with only 1
element. e.g:
Viven
Duermen
Estrés

1

3 No hay / tiene que
dar explicaciones (a
nadie)

‘Dar explicaciones’
on its own
No es tan malo

1

4 No necesitan pareja
(para) ser madre

No necesitan pareja
(para) tener hijo /
bebé / niño

‘No necesitan pareja’
on its own
Ser madre (gracias a
los avances
científicos)

1

[4]
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